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Grade 12 AC Test
“Derivative”

sy Aallb) Wl audStudent Name (in English):

Student e-SIS number:

;EjﬁY\@Uﬁ\gM\q&l\gj

:(Aa Al L)l auiStudent Name (in Arabic):

Grade/Class:
Caall/ala yall

o WDate:

Indicator

Outcomes

12Ac
Derivative

a. Finding Change and Average Rate of Change.
b. Using the Definition of the Derivative.
c. Using the Rules of Differentiation.

task

e The task is to be completed individually-
the student can ask the teacher clarifying

guestions

e  Students must show ALL working for

calculations

e Students may answer in English or
Arabic but must use English numerals

TOTAL MARKS: 20
CONDITIONS FOR ASSESSMENT
e Students have 1 period to complete the

e This assessment will be graded
according to the rubric for Tests
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LLet () =123 X510 e the definition to find:
x> +2 x>1

a) The Left-hand derivativeat x =1 . b) The Right- hand derivativeat X =1 .

c) Do you think that f is differentiableat x=1 2 Explain.
2x+1, x=<1

X2 +2 x21
X=1 die Cpaidl dgal 48l (@ X =1 die Ll dad dsiidl

-

DY Gl F(X) ={

oot x=1 se gmauas T aw ¢

[Recalling Information] RI [4] (4) lagleal) s
[Explaining ] E [4] ( 4) o
[Generating solution ] GS [4] (4) Jsiadalyy)

2. The figure shows the graph of a function over a closed interval D. At what domain points does the

function appear to be: ladie Al X sl agl L [23,6] e Adjaa Y= 00 A ply 4 slaad)
a) Continuous but not differentiable. L QSN ALE e 5 dliaie Al ({
b) Neither continuous nor differentiable. QWIS ALE e gdliata pe A (@
c) Differentiable. .Sl ALE A (z

[Recalling Information] RI [4] (4) clagleal)l g3

[Identifying relationships] IR [4] (4) <Bal) aay)




3. Find % for each of the following (showing your work): () @l shad L) o L U W

a) Yy=xX —6X7°+4x+57° b) y=

) y=x"tanx

d y=u+sec(Bu) : u=x%+7x

e) y=+3+2t @ x=t" -2t

dx

sin x

+1

[Recalling Information] RI [4]

(4) lagleal)l S

[Identifying relationships] IR [ 4]

(4) <)y

4) Find the equation of the tangent for the curve of x°y* =9

. (-1,3) aball e x?y?=9

at the point (—1,3)

sacol) Lwlondl @sles a>gl

[Recognizing information] RC [4]

(4) claghall &y

[Identifying relationships] IR  [4]

(4) <l@al sy




5. Let f(x)=x*eg(x) where f(X),g(X)are differentiable and g(1) =1 » g'(1)=-3

Find each of the following: (showing your work):

g) =1 » g'W)=-3 :0ls BlaraeW okl f(X),g(X) wu> f(X)=x>eg(X) oSJ

) lim £A+N — @
h—0 h

¢) (fog)' (@)

rJ=dl wlghas Tuwo sl Low US o>l

[Identifying relationships] IR [4]

(4) <@l sy

[Explaining ] E [4]

(4) gl

[Generating solution ] GS [4]

(4)  dslall say

7. The positions(t) =t> —9t* + 24t +1 of a body moving on a coordinate line, with s in meters and t

In seconds.

Seisillteun S(t) =12 —Ot% + 24t +1 Ul > 0 Assl sl b 4ndsa any Cumy oifivns b o apuen o)y

a. Find the average velocity during the interval [0,3] .

b) Find the body's velocity and acceleration as a function of time t.
b ol 8 S Aaall g (Agaiall ) pbaalll de i aa f (o

LPE

- [0,3] sl Joa A sl e ot a1




c¢) Find the body's acceleration each time the velocity is zero. ) ‘
‘Ph‘)&d‘ S;}Lﬁafdsg_ﬁd;d\ s ) (C

d) When the body's acceleration is zero?

e) Complete the table below and describe the movement of the body.
ereal) A8 ja Cia s b 4k afiul 5 U Jsaadl JaeST (2

t
[Explaining ] E [4] (4) o
[Generating solution ] GS [4] (4) Jdsiad ol
[Recognizing information] RC [4] (4) Slagheall &y
[Recalling Information] Rl [4] (4) lagleal)l s




